EE223 Collaborative Problems Lecture 2
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across a - uF capacitor
a) Find i(t) through it
b) Find p(t) delivered to it (power)
c¢) Find w(t)storedinit (energy)
d) Find fooop(t) dt and comment on its significance
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2.  Given i(t)=4500t, 0<t<20us / |
0, t>20us | 1 t
: : 20y
is delivered to an uncharged 0.2uF cap.
a) Find wv(t) across the capacitor fort>0
b)  Why does a voltage remain on the capacitor after the current is zero from an
intuitive viewpoint?
3. Given the following circuit
Find vy, v,, v3, I
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